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SN 252t
o 2z It &5 2 e
celr XA (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
401 Al&HI LS 250,000 700,000 450,000
01 Al&H] 250,000 700,000 450,000
O[AI&HI] 250,000
OHISHDIZ2RXZAAY EXHY ¥ XES
B A 250,000,000 * 14l 250,000
Jior2 HIot2R2 =4 1,362,018 1,689,466 N327,448
2 400,000
= 962,018
201 LEt2HH| 5,400 7,080 A1,680
02 222%H| 5,400 1,800 3,600
OI2Z222 2 MAl 0
OJI0F2 HIDI2LMHEA IS
450,0002 * 128 * 1004 5,400
401 Al&HI LS 1,356,618 1,682,386 N 325,768
2 400,000
= 956,618
01 Al&H] 1,330,892 1,560,200 A229,308
O[AlI&HI] 1,330,892
22 =XEAAX 400,000,0002 * 14l 400,000
OSIEA AMESA
2,970,000 * 66M * 1S 196,020
OJIOISHIOIZ2H (=X M s X =4
22,500 * 24,673m * 30% * 50% 83,272
OJIOI2HIOI2Y XAAMA(EX)
651,600,000 * 14l 651,600
2 390,960
= 260,640
02 22l 14,372 119,700 ~ 105,328
O3SIEA A=A 22/
196,020,000 * 1.68% * 1= 3,294
OJIOI2HIDI2R EAAY 22lHI(EX)
651,600,000 * 1.7% 11,078
= 6,445
= 4,633
03 Al&=20HH| 11,354 2,486 8,868
OJIOIS2H DI B XL (R3ALE , FUHE)HFE
iz=ng 900,000 * 33 2,700
OJIOF2HIDI2REZ LAY 20|
90,000,000 = 0.1% 90
OZ=XESX SUHl 444,400,000 * 0.648% 2,880
OSITAMEB A 20U
192,083,0002 * 0.72% * 1= 1,383
OJIOI2HIDI22 ZAAIY AISRUHI(EX)
651,600,00024 * 0.66% 4,301
2 2,595
= 1,706




SN 252
HE: 2 OlY 25 Y A
Sl REXEY (9l & 2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o Gl o B2
YSNXSBRRAX T4 1,241,785 1,492,678 250,893
3 1,100,000
2 141,785
101 o121l 10,383 10,383 0
04 JIAH2ZSES 10,383 10,383 0
ORAX 22l = (KA
34,6102 * 102 * 302 10,383
201 LBt Y| 63,504 65,515 A2,011
01 At 2relb| 14,994 20,750 A5, 756
SIEITE==11T) 13,644
OSEN 222 M= (XH)
5,000 * 900 4,500
ORAX 22 L B2 M= (XH)
70,0002 * 93| 630
OB NS 225 22 (XHH)
29,7008 * 208t A x 2} A * 3% 3,564
OB AYI| BERA(504) (RA)
7,50020 * 18025 1,350
OXtoI4 HBIB ASI|,AS% (X))
3,600,0008 * 14! 3,600
olm=l] 1,350
OQFER WU (XHH) 75,0008 + 182l 1,350
02 Z2=2Y| 28,710 19,765 8,945
OlZ322 2 XAl 27,648
ORAX 2F IR (X))
396,002 * 68 * 84 19,008
ORAN 44T (XHH)
540,008 * 48 * 404 8,640
OAIEEHISIHI] 1,062
0RAZ2I| EU(XHH)
1,610.2920 * 184+ 2CH * 93] 522
OOHEQE SHEAILEY 2 (XHH)
27,0002 * 200! 540
03 A2 | 19,800 25,000 A5,200
OMBSA Lt Y| (KA
9,000,0008 * 14! 9,000
OB A 2RI (KA
2,700,0008 * 2744 5,400
OYAHL olal AR (XHH)
900,0008! * 62 5,400
401 Al&HIL 20| 1,146,098 1,349,280 A203,182
3 1,100,000
2 46,008
01 Al&| 1,122,210 1,318,714 196,504
OLAI&HI] 1,122,210




SN 23T
Ha: m@ Olg 25 U el
SCBRTENES: (e @
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; HwsZ
OREX N&E2 X228 (XHH)
9,000,0008! * 14! 9,000
OJIFUE QHHE Zrad L AXI(KHA)
25,000,008 * 14! 25,000
OARZ ZAHI(KHA) 9,000,008 * 14! 9,000
ONSBRAN ELAMY(2X)
1,079,210,0008 * 14! 1,079,210
=l 1,079,210
02 22l 16,830 16,797 33
ONSBRAX ZLAY 22lHl(2X)
1,100,000,0008 * 1.53% 16,830
3 16,830
03 Al&=CHHl 7,088 13,769 £6,711
ONSBRAXNAN LSRN 24Ul (X))
9,074,002 * 1.08% %8
ONSTRATNOIFUCS)I2HHE L AL
AHHHIAZ D2 (XAH) 1,500,000 * 23] 3,000
ONSBRATNOIFUS) T N2
Hl(2X) 1.100,000,0002 + 0.36% 3,960
3 3,960
405 X+orE S| 21,800 0 21,800
01 XtaruSZH S| 21,800 0 21,800
OZ% FAI(ZAII)  20,000,0008 * 1CH 20,000
OZ% 48279 1,800,008 * 14! 1,800
BBA B AL 67,495 124,355 56,860
201 Yer2g| 1,200 0 1,200
02 B2l 1,200 0 1,200
O[=ZZ222 2 Al 1,200
ORI QHLAZIE FMIIAER
10,0002 * 120HE * 1944 1,200
307 212H0I 10,000 10,000 0
04 BIZFBAIE X 10,000 10,000 0
OFEMRIYOILR ZFN
10,000,0008 * 14! 10,000
401 AIEHIL L] 56,295 114,355 58,060
01 Al 55, 183 110,110 54,927
OlA&HI] 55, 183
OZZX HUIAFR A&
43,018,008 * 2.75% 1,183
ORI HEIAL 18,000,008 * 14! 18,000
OREX O EXIE H|
36,000,008 * 14! 36,000
02 Z2lbl 657 2,850 ~2,193




SN 252
HE: 2 OlY 25 Y A
Sl REXEY (9l & 2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
OZZX ZHIA 22|
29,070,000 * 2.26% 657
03 Al& S H| 455 1,395 940
OZZX HHIALY 20|
27,083,00020 * 0.72% 195
OB EXE FHul 20|
36,111,0008 * 0.72% 260
NeiSst 2N 25 3,300,630 5,688,750 ~2,388, 120
3 1,900,000
2 1,400,630
TYUBBYASALY 630 3,626,200 ~3,625,570
201 Ygreg| 630 1,700 A1,070
01 At 22l 630 1,700 A1,070
Olgs+gY] 630
OTYDZYASAIY B2 L OHlY &40
I = 63,0002 * 108l 630
ZNHAA OFAFAIR T4 1,300,000 940,000 360,000
3 1,300,000
401 AEHILS T 1,300,000 940,000 360,000
3 1,300,000
01 Al&l 1,278,670 909,758 368,912
OlAI&HI] 1,278,670
ZHEAL OFRJATAIR F & A (224
1,278,670,0008 * 14! 1,278,670
=l 1,278,670
02 22| 16,470 24,320 A7,850
OFHSHA OFATAY ZLAL (2202) L2l
Hl 1,350,000,0002 * 1.22% 16,470
3 16,470
03 Al& S CH| 4,860 5,922 A1,062
OFANSAFA OFATAIY ZHAMS(2EH) A&
20| 1,350,000,0008 * 0.36% 4,860
3 4,860
Us0leD A 2,000,000 1,100,000 900,000
3 600,000
2 1,400,000
401 AEHILS ] 2,000,000 1,100,000 900,000
=l 600,000
2 1,400,000
01 Al&H] 1,992,800 1,093,880 898,920
OlA&YI] 1,992,800
OYLBDIZH 248 1,992,800,0002 * 1A 1,992,800
3 597,840
2 1,394,960
03 Al&=CH| 7,200 6,120 1,080




SN 2snE
Mu: D2 |0 HE Y 2P
o NSE BRI HE CERL
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
OXLsid=sd HE AID=204d]
7,200,000 * 14 7,200
Z 2,160
o 5,040
23tz &ME 2,007,065 1,193,516 813,549
= 33, 164
J| 16,000
= 45,835
° 27,000
o 1,885,066
SR L t=2s A ' 1,229,905 409, 166 820,739
2 33, 164
| 16,000
= 1,335
° 27,000
o 1,152,406
23t d=gs XA 175,100 200,000 A 24,900
307 @Iz2tol & 168, 100 193,000 A 24,900
02 QI2tHAE X 36,500 32,000 4,500
OE &9 wHgr 92X &
1,500 * 4,0008 = 13l 6,000
OHMNBEl ESAAAXISHAF 20,000,0008 *~ 13 20,000
OHLANIIES MU =X
500,000& * 123| 6,000
Ogasrkn |ALX L2 X&  5,0008 * 9005 4,500
04 DIZHHALE = 131,600 161,000 N 29,400
OGEZSMStAL A& 5,000,000 * 13 5,000
OHEAHAIZZ2H SHAF K&
3,000,000& * 13| 3,000
OESAES0IsA 27,000,000 * 13 27,000
OZ2A AFZH AAAF CHE
3,000,000& * 13| 3,000
QOHAZ ASHAL 10,000,000& = 14! 10,000
OEHN=Z2AF 23 M=H 50,000,000& * 13l 50,000
OMEDIE A} 30,000,000& = 13| 30,000
O=sl==2sXd 1,200,000 = 3044 3,600
308 AFXIEHHI SO 7,000 7,000 0
08 JIEIR Y2 7,000 7,000 0
T 2H&E JI2 &dH=2 7,000,0008 * 14! 7,000
ME23 s 2N 80,300 83,000 £2,700
307 GIz2tol & 80,300 83,000 A2,700
02 QIZtAASE =X 37,800 34,000 3,800
Ogtn =) A& A 3,000,000& = 23| 6,000
O&E Hd 23 23 N 16,000




H0 M0 Ho
for for o
h=mH

20
0x

21t
= &8
ok A dlsgs X

!
x

CEE (S - MRAY - HAS

22
J2

=1
R
121

oM< 1,000,000 * 2J0 A 2,000
O =23 500,000 * 80 A 4,000
OJIEIAIRE 100,000 * 10074 £ 10,000
OFE 23t HEs B2Z NY(EX AIE ME2,
NE 2M, &5) 2,000,000 * 704 14,000
O AA Ms MS2sHs 2EEXL
1,800,000 * 13 1,800
04 DIZtSHALE X 42,500 49,000 26,500
OHM37al ML250=H X (Lete)
22,500,000 * 13 22,500
ORM378 L2350 NR(HAEHR)
9,000,000 * 13] 9,000
OHM183 MAIZs FAWNSE X
8,000,000 * 13 8,000
OFES(ME)DA 2H(PEEUHSH,L=AAH
1,500,000 * 2JH A 3,000
230z s XY 821,507 13,720 807,787
201 LEr2HH| 8,067 6,720 1,347
01 AFRZt2lH] 567 4,000 A3,433
Ol=&HI] 567
OMNI373l ®olx =M s9EXE 24
HI 7,000 = 272 * 30! 567
03 S AIR2ZH| 7,500 2,720 4,780
OS5 8AN EES(EAINES) ME
70,0008 » 105 700
OXG0I=HsHEA 2olxta
450,000 * 3CH 1,350
OMEZE Q=0 &4 20 X 2X2
450,000 = 1CH 450
Ogeidl ”etAl 5,000,000 * 1Al 5,000
202 OfH] 300 0 300
01 2oy 300 0 300
OHM378l dgel=0ssH s6E 1= 230
bl 20,0002 * 321 * 53 300
301 Yt AZ 10, 140 7,000 3,140
08 QUBIZ=H0H 8,040 3,000 5,040
O=235t0lZE s =QIAt 2ol
80,0002 * 621 * 4 * 23 3,840
OM2S X 2 =QQIAF ZHOH
100,000 * 391 x 22 « 73] 4,200
10 SHALAHI 2 A2 2,100 4,000 A 1,900
O23H0l=2¢ AlHH| 700,0008 * 33 2,100
401 Al&HILLY] 803,000 0 803,000
01 Al&H] 800,000 0 800,000




A Sot2t2
g Zetilzs &S
o9 2SRM U HEEE N 84 (9l & 2
_ _ _ MEc
SN B SR(BH) - NBAY - B2 01 &t o8 e
OlAI&HI] 700,000
O&t=RX1Z EXI0HLH
33,000& * 6,060.6m 200,000
Obt=SXNZM2E X P2 H & S
500,000,000 * 14| 500,000
OZ el A 100,000,000& = 14 100,000
03 AIZ=20i4l 3,000 0 3,000
OM4RX2 #HHL 202
1,500,000& * 23] 3,000
FUHSEHES ME X3 32,000 31,000 1,000
Il 16,000
i 16,000
307 QI12t0l A 32,000 31,000 1,000
Il 16,000
= 16,000
02 2ItAANE X 32,000 31,000 1,000
ORUBHAZ MAXI  32,000,000& * 14 32,000
Il 16,000
= 16,000
dESgu 2a M5 BEE 2,670 2,670 0
= 1,335
i 1,335
307 QI2t0I A 2,670 2,670 0
&2 1,335
i 1,335
02 ItAANSE X 2,670 2,670 0
O SEUEIEESEN 2,670,000& » 14 2,670
= 1,335
= 1,335
=4Z20F =2 At XI& 66,328 26,776 39,552
= 33,164
= 33,164
307 GI2t0I A 66,328 26,776 39,552
= 33,164
i 33,164
03 AtSIEME XS 66,328 26,776 39,552
OZALA E2M 23 66,328,000& » 14 66,328
= 33,164
= 33,164
Otdlls=2 24 X 20,000 20,000 0
< 10,000
= 10,000
307 QI2t0I A 20,000 20,000 0
< 10,000
i 10,000




SN 252D
Zy: 250z XE
Sl 2R L HEES N S4 (Erol: @2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
02 Qlta3aEx 20,000 20,000 0
Ootddls2 22 20,000,000& » 14 20,000
= 10,000
i 10,000
ot 2stas 10,000 10,000 0
= 5,000
2 5,000
307 QI2t0IA 10,000 10,000 0
= 5,000
= 5,000
02 QI3 aEx 10,000 10,000 0
OO0t 2=H&s 10,000,000& * 1A 10,000
= 5,000
i 5,000
Gatdls 23 X 20,000 20,000 0
= 10,000
2 10,000
307 212t01& 20,000 20,000 0
= 10,000
= 10,000
02 QItaAaE X 20,000 20,000 0
OgaDER 29 20,000,002 * 14} 20,000
= 10,000
= 10,000
g2 EoF X& 2,000 2,000 0
& 2,000
307 QI2t0IA 2,000 2,000 0
= 2,000
04 QIHHALE X 2,000 2,000 0
OLE2aH &N 1,000,000 * 2€ 2,000
= 2,000
NS 2ot A 22 TSt 630,840 641,550 210,710
NEEE YL 33,600 34,000 A400
201 sty 990 1,500 A510
03 A2 EHI 990 1,500 A510
SIENEET 990
OLESARS B0y XNTYUKE
540,000& = 104 540
OYUTHE 2oy ITYUXE
450,000 * 1CH 450
202 O4Hl 360 0 360
01 S 360 0 360
OXI S AL EILOIHI
20,0008 * 391 * 62 360




SN 252t
d: 230z &=
CHel: XIS HAL 22 RS} (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
301 Yt A2 2,250 2,500 A 250
10 HAIAHI 2 A2 2,250 2,500 A250
OYESA25=H 12t &I B4
1,350,000 * 14l 1,350
OHAMUE =/ ZUE 2HE ZFIIBA(ZH
E=H) 900,000 * 14 900
307 QI2t0IA 30,000 30,000 0
04 BIZtSHAIE = 30,000 30,000 0
OR2IE0I 20 & SHA 15,000,000 = 14l 15,000
OREEIC Q5 Al 15,000,000 14l 15,000
K25 =HHA X 597,240 607,550 ~10,310
201 LEt2HH| 73,490 70,850 2,640
01 AtRZt2lH] 50,490 45,850 4,640
Olget=2dl] 45,540
OXNYG=M 21 ==&
(2,000,000 * 153/ )+(1,000,000& * 153 45,000
)
OXIG=X SH A AEH
18,0008 » 15& * 23| 540
Olex2] 4,950
OXNYG=M 222 =EHA AX=
45,0008 = 108 450
OUZ=H 2N S0HA 2H(EEY ¢
x2) 150,000 * 10 » 3IHA 4,500
03 MAI2ZHI 23,000 25,000 A2,000
02010 FAAQIL2FE| Al
5,000,000 * 1Al 5,000
OZo=H CAIE E8 HA0IE AZ 2 &
2 M 18,000,000 * 14l 18,000
202 OdH] 400 400 0
01 2oy 400 400 0
OXS=H A &IF L #iIXI0F2 odH]
200,0008 * 201 % 13| 400
301 LEIBAS 1,350 1,300 50
12 JIEtB A2 1,350 1,300 50
OZOIA AlAHTH 1,350,0008 * 1Al 1,350
307 QI2to|A 512,000 525,000 213,000
04 SIISHAIE R 512,000 525,000 A 13,000
02010 YA2AQI25=M 450,000,0008 * 14! 450,000
OHMI103 JIOt2AE=H| 5,000,000 * 1Al 5,000
o925 =0l =M 25,000,000 * 1Al 25,000
0% QML EQANE  16,000,0008 * 23| 32,000




SN 2SR
Hm: 250z JE
9l XISREA BB E (S5l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
401 Al&HIL 20| 10,000 10,000 0
01 Al&H] 3,000 3,000 0
OlAI&HI] 3,000
023, SHBA SAFXE FH|
3,000,0008 * 14! 3,000
04 BALRIRIAIEH] 7,000 7,000 0
0238, SHHAE SIEA L
7,000,008 * 14! 7,000
Ngess fs o 23 146,320 142,800 3,520
= 44,500
2 101,820
NLesal A 85 N 100,000 95,000 5,000
= 41,500
2 58,500
307 QI2H0IH 100,000 95,000 5,000
= 41,500
2 58,500
03 ABIEHHIEZE2 100,000 95,000 5,000
OXNYESsa ALEE X
100,000,00021 * 14} 100,000
= 41,500
2 58,500
Y2052 2y X2 13,320 14,800 A1,480
307 QI2H0IH 13,320 14,800 A1,480
05 DIZHSIES 13,320 14,800 A1,480
OYYSMUIBBTRS L FSANAHL2R
585,0002 * 122 7,020
OYAS0BI 2 AR 450,008 * 128 5,400
OYUL08I2 &Il L ALorH HA2
900,008 * 174 900
S2ssn 29 33,000 33,000 0
= 3,000
2 30,000
307 QI2H0IH 33,000 33,000 0
= 3,000
2 30,000
03 ABISHHIEE2 33,000 33,000 0
OR2sstn 2Y 33,000,008 * 14! 33,000
= 3,000
2 30,000
SERH BE 3,624,177 3,465,807 158,370
= 804,884
= 103,535
2 2,715,758




SN 2B
HE: RUSHN 2=
ol 2smEEL 2 (el &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o B2
SaEEL 2 3,624,177 3,465,807 158,370
= 804,884
= 103,535
2 2,715,758
2INE 28 24 Fl 1,061,000 830,000 231,000
= 740,300
= 98,410
= 222,290
207 HPIHLEI 366,000 0 366,000
= 256,200
= 34,940
2 74,860
01 o178yl 366,000 0 366,000
O SYAX 3548 2EHL
90,000,0002 * 14! 90,000
= 63,000
= 8,100
2 18,900
OSZA £ SXHY BEHL
76,000,000 * 1Al 76,000
= 53,200
= 6,840
2 15,960
O OHOHOI AT BEHE
200,000,002 * 14} 200,000
= 140,000
= 20,000
2 40,000
401 AU 20| 215,000 0 215,000
= 148,100
= 20,270
2 46,630
01 Al&H] 215,000 0 215,000
OlAI&HI] 0
ORIIEE 24T (ZHE32l LEIUS)
3,000,0008 * 14! 3,000
= 2,100
& 270
2 630
OZE4 OHOHOIH AL 22 HY
200,000,008 * 14} 200,000
= 140,000
= 20,000
2 40,000
OS&t M oHE Hb| 6,000,0002 * 24! 12,000
= 6,000
2 6,000
402 DIZHXHZ O 480,000 830,000 A350,000
= 336,000
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Sf2b2
23 BEE
HEEL 22

M0 30 MO

AN - XM . cle (s SALO . HAM 2 A} OH HEE - =2
OYaMAZFAEM MIF S2(2XH)2UEl -2l
Fot= 1,331,000,000& * 0.36% 4,792
O EACM MO MASAL SOHHl -2 H]
Ft= 600,000,000& * 0.71% 4,260
d 23t |X2 109,771 41,370 68,401
101 elH| 10,383 0 10,383
04 JIZtMZ22XSE+ 10,383 0 10,383
SELTEEST
34,6102 * 25Q1 » 12014 10,383
201 LEt23d| 31,588 11,370 20,218
01 AbR22lH| 26,620 5,850 20,770
O[gers=gHl] 26,620
ORsMIIE BEE Xz 270,000& * 63 1,620
OS2 MEAMHZE M2It =2
200,000& * 273l 5,400
OSEZSRAMMRAS Y
400,000& * 43| 1,600
O3 &5 g2t 20,000& * 900= 18,000
02 3224l 4,968 5,520 A552
Ola3223 % HAlI 4,968
OsS2d HAHMANZEI22 (M, 425,
M3 S) 108,000& * 2IHA * 123 2,592
OSZSHUS HIIAHFY +42
99,000& * 12JH & * 23] 2,376
202 (4 H| 300 0 300
01 =Wl 300 0 300
OXNEZSM Zeloidl 20,0008 = 321 = 53] 300
401 A &HIZL 2048 67,500 30,000 37,500
01 Al&H| 67,500 30,000 37,500
O[Al&Hl] 67,500
OALAZESM 23l
4,500,000 * 5JH 2 22,500
OANSEZUHE L= AMY=ZM4
45,000,000 » 14 45,000
e EIH0IY ) 15,814 13,417 2,397
= 11,070
= 1,423
= 3,321
402 212t XH=0IA 15,814 13,417 2,397
= 11,070
& 1,423
= 3,321
01 QI GEEX 15,814 13,417 2,397
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SN 252

mu: wNe
&2l Jl=3Hl (H:®2)
A BB O(B) - NEAY - BAS sy e RS2
S J|l=23Hl 30,567 33,498 A2,931
201 LBt 23,367 25,938 A2,571
01 AFR 22| 19,618 21,788 AN2,170
O[ger+=&Hl 15,120
ORN2ZE SHUAHL 15,120,000& * 14 15,120
O[=&l] 4,498
OSASH ZUHA  4,498,0008 » 14 4,498
02 2223l 3,749 4,150 A401
Olzae=2 ¢ 3,749
ozuads 3 2 HAl
237,000&  12& 2,844
o&ZiE AHZH|
900 * 2.94 ¢ » 6AIZt » 57 905
202 O4H| 7,200 7,560 A 360
01 =LA b 7,200 7,560 A 360
ORME2E 2 7,200,000& * 14 7,200
2HEoHY D123l 11,561 16,664 25,103
201 LBt 7,061 7,844 AT83
01 AFR 22| 7,061 7,844 AT783
Olget=gHl 3,176
ORM2Z 3,176,000& * 14 3,176
ol=l] 3,885
ORAM2Z 3,885,000 » 14 3,885
202 O4H| 4,500 8,820 A4,320
01 =LHOA b 4,500 8,820 AN4,320
ORNMEE B9 4,500,000& * 14 4,500
Z30l= JI=23l 15,722 17,469 AN, T747
201 L2yl 8,540 9,489 A 949
01 AFR22lH| 8,540 9,489 AN 949
Olget=gHl 4,500
ORM2Z 4,500,000 = 14 4,500
Oolaul] 4,040
ORNEZZ 4,040,000& * 14 4,040
202 O4Hl 7,182 7,980 AT98
01 =LHA b 7,182 7,980 ANT98
O=WdAbl 7,182,000& * 14 7,182
22 AHEY J23 13,500 0 13,500
201 23| 8,100 0 8,100
01 AbR2t2lH| 8,100 0 8,100




SN 23T
HE: HNSAAY (2S2ZD)
ol D=3l (B9 &)
_ _ HE T
SA-EHB . CA(ENH) - HEAY - BE2 O A+ 24 il i~ o HRs2

Oler2gyl] 4,500
ORMSYZ U 4 4,500,008 * 14! 4,500
ol2zl] 3,600
ORNB2Y BAHY 3,600,0008 * 14! 3,600

202 01t 5,400 0 5,400

01 2UjoIHl 5,400 0 5,400

ORNEY Sy 5,400,000 * 14! 5,400




